prepp

Practice, Learn and Achieve
Your Goal with Prepp

UGC NET Exam

Tourism Administration and Management

Simplifying
Government Exams

@ ssccHst | £ 1asexam | (D) RRENTPC | GO NTSE | £ cDs
& cBsEuGC NET | (i7 1BPS PO | 7 NDA
€ ssiro | (17 1BPs CLERK | <&y AFcaT | @ @) CTET
@ csiRucc NET | @ capF | (i7 1BPS RRB



https://prepp.in/
https://prepp.in/ssc-chsl-exam
https://prepp.in/ias-exam-exam
https://prepp.in/rrb-ntpc-exam
https://prepp.in/ntse-exam
https://prepp.in/cds-exam
https://prepp.in/ssc-cgl-exam
https://prepp.in/cbse-ugc-net-exam
https://prepp.in/ibps-po-exam
https://prepp.in/nda-exam
https://prepp.in/sbi-po-exam
https://prepp.in/ibps-clerk-exam
https://prepp.in/afcat-exam
https://prepp.in/ssc-je-exam
https://prepp.in/ctet-exam
https://prepp.in/csir-ugc-net-exam
https://prepp.in/upsc-capf-exam
https://prepp.in/ibps-rrb-exam

PAPER-I
TOURISM ADMINISTRATION

Signature and Name of Invigilator

I
AND MANAGEMENT

1. (Signature) OMR Sheet NO. : .o,
(Name) (To be filled by the Candidate)
2. (Signature) Roll No.
(Name) (In figures as per admission card)
Roll No.

B9 3 HE

Time : 1Y/, hours]

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 12

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of | 1.
this page. 2.

2. This paper consists of fifty multiple-choice type of | 3.
questions.

3. Atthe commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an
open booklet.

(if) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.

(iii) After this verification is over, the OMR Sheet Number | ,
should be entered on this Test Booklet. '

4. Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below
on the correct response against each item.

Example :

where (C) is the correct response. 5.

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Paper | Booklet only. If you mark
atany place other than in the circle in the OMR Sheet, it will
not be evaluated. 6.
Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet. 8.
If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.

9. You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry
duplicate copy of OMR Sheet on conclusion of examination. | 10.
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TOURISM ADMINISTRATION AND MANAGEMENT
Paper — 11

marks. Attempt all the questions.

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

Where is the Leonardo Da Vinci 6. Which place was the venue of 10®
Airport ? “Pravasi Bhartiya Sammelan” (Non-
(A) Rome (B) Paris resident Indian Conclave) ?
(C) Lisbon (D) Madrid (A)  Jaipur
(B) Hyderabad
' ) (C) Delhi
What is sagarmatha ? (D) Bangalore
(A) National Park
(B) Brahmaputra river 7. Which is not a Jain Pilgrimage
(C) Mount Everest Centre ?
(D) An Island (A) Palitana
(B) Pavapuri
. ) (C) Parsvanath
What is the IATA code of Port Blair ? )
(D) Panchmarhi
(A) IXB (B) PBR
© IXZ (D) PRT 8. Which is not a skiing resort ?
(A) Shimla (B) Auli
Khajuraho dance festival is organised (C) Manali (D) Gulmarg
every year in the
(A) First week of November 9.  Which pass lies enroute to Leh ?
(B) First week of December (A) Shipki la (B) Nathu la
(C) First week of January (C) Zozila (D) Bomdila
(D) First week of February
10. Identify the balloonist who made world
record of 69,000 ft ascend ?
Which are the world heritage sites ? (A) Steve Fossett
(a)  Sanchi Stupa (B) Bran Johnson
(b) Hampi monuments (C) Amundson
(c) Brihadhishwara temple (D) Vijaypat Singhania
(d) Golconda Fort
(A) (a), (b), (c) are correct. 11. Which year was celet?rated as
centenary year of Indian Civil
(B) (), (b) are correct. Aviation ?
(C) None are correct. (A) 2009 (B) 2010
(D) All are correct. (C) 2011 (D) 2012
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. R AR 3 T Il 9y {hH a9
HAEIT 74T ?
(A) 2009 (B) 2010
(C) 2011 (D) 2012
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12.

13.

14.

15.

Assertion (A) : Air India is facing a
huge loss of ¥ 64,000 crores.

Reason (R) : It has a very large
number of employees.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but
(R) is not the correct explanation.

(C) (A)is true, but (R) 1s false.

(D) (A)is false, but (R) is true.

Assertion (A) : Daylight saving time is
advancement of standard time by
one hour.

Reason (R) : All countries located in
high latitudes follow daylight
saving time concept.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but
(R) is not the correct explanation.

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Which year is considered as a
benchmark for declaring a property as
heritage hotel ?

(A) Before 1850

(B) 1850
(C) 1900
(D) 1950

On January 14, 2012 which Luxury
cruise liner met with an accident near
Isola de Gilio (Italy) ?

(A) TItalinho Concordia
(B) Costa Concordia
(C) Galilio Romanco

(D) Francici Giovani
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20.

21.

Which national is not given “Visa-on-
arrival” in India ?

(A) Singapore

(B) New Zealand

(C) Japan

(D) Thailand

Service scapes refers to
(A) Natural beauty
(B) Physical beauty
(C) Sense of place

(D) Quality gap

To distinguish between a tourist and an
excursionist what should be the
duration of tour ?

(A) 12 hours (B) 18 hours
(C) 24 hours (D) 36 hours

In Tourism Multiplier, which of the
following is not considered as ‘tourist
spending’ ?

(A) Direct spending

(B) Indirect spending

(C) Induced spending

(D) Demonstrative spending

A system of calculating international
fares based on the maximum permitted
mileage between two points

(A) Mileage control

(B) Mileage method

(C) Maximum permitted mileage
(D) Fare construction

In an itinerary, the destination point
used to determine the round trip fare or
maximum permitted mileage

(A) Turn around point
(B) Railing

(C) Connecting point
(D) Embarkation point
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15.
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(A) zeTer=l himiear
(B) I et
(C) Tifetforat Trmret
(D) whireE et
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(B) few

(C) Far fag

(D) e fag



22,

23.

24,

25.

A measurement of revenues required
by a hotel over a fixed time period
after operating expenses and taxes are
deducted is known as

(A) Average room rate
(B) Cash flow

(C) Revenue

(D) Income

This consists of two lists of “types of
journey and itinerary”. The candidate
has to match an item in one list with an
item in the other.

List—1 List — 11
i.  One way 1. DEL - LON -
NYC —» TYO -
DEL
ii. Round the 2. DEL — LON —
World NYC - CCU
iii. Open jaw 3. SXR — DEL —
MAA
iv. Circular trip 4. BOM — DXB —
PAR - BOM
Codes :
i i i v
(A) 3 1 2 4
B) 2 3 1 4
< 3 2 1 4
D) 1 2 3 4

“DND” is a sign to indicate
(A) Do Not Disturb

(B) Door to Door

(C) Double Income No Kids
(D) Do and Done

The first Oberoi hotel is located at
(A) Kolkata (B) Mumbai
(C) Shimla (D) Nainital
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26.

27.

28.

29.

This consists of two lists of names of
cuisines and the region connected, the
candidate has to match an item in one
list with an item in the other :

List—1 List — I1
(Cuisines) (Regions)
i. Chettinadu 1. Karnataka
ii. Udupi 2. Karaikudi
iii. Moppila 3. Malabar
iv. Awadh 4. Lucknow
Codes :
i i v
A 1 2 3 4
(B) 3 4 2 1
< 2 1 3 4
(D) 4 3 1 2

During which plan period “Tourism”
was awarded the status of an Industry ?

(A) 5" Five Year Plan
(B) 6" Five Year Plan
(C) 7™ Five Year Plan
(D) 8" Five Year Plan

In which year the Government of India
introduced National Action Plan ?

(A) 1982 (B) 1988
(C) 1992 (D) 2002

Who is the first Director General of
Tourism ?

(A) Somnath Chibb
(B) M.P. Bezbaruah
(C) S.K. Mishra
(D) L.K.Jha



22. T H T % @l AN F B HH F 26. FrATCET & g H 9 AR 3
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(D) ™= i, =g 1. FARS
ii. 33 2. HRIFHE!
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AR FEHH 5 M E | aderell ® e %u' '
gfeat § 5 7TT AR B U g gAferd 1v. 4 4. &S
THIFT : Tz
et - 1 el - 11 i i v
i 1. DEL - LON - A 1 2 3 4
NYC - TYO -
DEL B 3 4 2 1
ii. TWEekaee 2. DEL — LON — © 2 1 3 4
] NYC - CCU © 4 3 1 2
iii. 3t it 3. SXR — DEL —
MAA
. 27. 69 AT HT & IR “qFeT” Hi ST
iv. ¥R T 4. BOM — DXB —
PAR — BOM e T
B (A) UTEE YoEsE AT
i i il v (B) B3 UgeNT IS
(4 3 1 2 4 (C) Jraat Jaas AT
B 2 3 1 4 5 .
© 3 2 1 4 (D) 3TeEr YTeuE ASHI
) 1 2 3 4
28. RT WHR FRT AL H ASHT &I H5H
24. “DND” (SuHe!) Heh & T ] Tpa T 2
(A) g e (A) 1982 (B) 1988
(B) BWZX ©) 1992 (D) 2002
(C) =9 oA At fhew
(D) s 29, T foTT % UUT HEIHSeIe S o 2
25. G99 TS 3MeRT Bl TUd {har T (A) o=t
o (B) TH.GL. STargeT
(A) Hersha (B) T=E (C) waF. fasn
(C) fomerm (D) Hieter (D) T @
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30.

31.

32.

33.

34.

3s.

Marketing is a process of
(A) Transactional exchange
(B) Relational exchange
(C) Circulatory exchange
(D) All of the above

The uncontrolled factors  with
immediate effect on business are called

(A) Actors
(B) Environs
(C) Mixes

(D) Variables

Which destination is not covered by
the “Maharaja Express” ?

(A) Gaya (B) Varanasi
(C) Allahabad (D) Khajuraho

Which State/Union Territory has the
largest number of wild life
sanctuaries ?

(A) Madhya Pradesh

(B) Andaman and Nicobar Islands
(C) Karnataka

(D) Assam

Where is the highest Golf Course in
the world located ?

(A) Darjeeling
(C) Almora

(B) Gulmarg
(D) Nainital

Two additional variables to explain
service marketing along with product
marketing are

(A) Physical evidence and process
(B) Placement and packaging

(C) Place and Publicity

(D) Partnership and Positioning

36.

37.

38.

39.

40.

“Promotion Mix” includes
(A) Advertising

(B) Sales Promotion

(C) Direct Marketing
(D) All of the above

The  leverage  associated  with
investment activities is referred to

(A) Operating leverage
(B) Financial leverage
(C) Combined leverage
(D) None of the above

Which financial organisation
authorises the foreign currency dealers
to buy and sell foreign currency in
India ?

(A) State Bank of India

(B) Reserve Bank of India
(C) Ministry of Finance

(D) Ministry of Home Affairs

What is the ratio of FDI in the
Accommodation sector in India ?

(A) 49 % B) 51%
©) 71% (D) 100 %

Which of the following is India’s first
Submarine Museum ?

(A) INS Kursura
(B) INS Vikrant
(C) Sagar Kanya
(D) INS Virat
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. foour ue vishan € 519 g7 Bidl ©

(A) e fa-meE
(B) Ty fafaa=
(C) uRarEsH fafw e

(D) SWieT Tt

FEGE  ® dHA  TEIed A oo
AT SRR T e STl &

(A) THRIT (Actors)

(B) ©Aar™=E (Environs)

(C) iR (Mixes)

(D) fo=ret (Variables)

. OE B G T oA & SEI CHeRIST

TR’ e g ?

(A) T (B) SRTOTH
(C) ToTmeEIR (D) SR
. Tora /s wnfad wewr | gt g
IO TR0 & 2
(A) weF TR
(B) 3USHN TS MHER 5T
(C) HAeH
(D) 3rEH
. Tovar = et Miew i @7 &2
(A) =St (B) T
(C) eremrst (D) e

oo o o o
. T AfaRE fagem e e fauom &

Y 1 Yot foque bt wree frar S &
(A) i |1 3T fswan

(B) A 3R fesmaet

(C) T 3R Y=’

(D) WERRT 3R sar=fd

36.

37.

38.

39.

40.

U ey § affed &
(A) fero=

(B) foska icae

(C) v fquue

(D) SIS |t

fyerer fcfataat < s sl 7T STl &
(A) foxi amy

(B) SHREHRI o

(C) g T

(D) SR § HiE A T&l

IRA H oozl q51 % Ha-fad & g
facstt gar faskar =t g fafaa e s
a1t fopam ST € 2

(A) Ted% A fear
(B) =1 g 3w <fear
(C) foa o™

(D) & g

ARG H 376 &7 § UF T e (FDI)&
T T € ?
(A) 49%
© 71%

B) 51%
(D) 100 %

frefefad & ¥ 9Rd 1 weugd Hget
T HIET € 2

(A) @€ T 9 Fga (INS Kursura)
(B) 3T w7 U fershit (INS Vikrant)
(C) WX =

(D) 3T T uq forie (INS Virat)
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41.

42.

43.

44.

45.

46.

‘OPERA’ is a
(A) Travel company

(B) Software used for reservation of
hotel rooms

(C) Airline charter company
(D) Franchise hotel chain

Gandhara Art is the outcome of
(A) Gracco — Roman technique
(B) Gracco — Bactrian technique
(C) Gracco — Persian technique

(D) Gracco — Indian technique

The restaurant service orders are taken
by

(A) Captain
(C) Busboy

(B) Steward
(D) Waiter

In which Indian city, the “Fort

William” is located ?
(A) Chennai (B) Kolkata
(C) Bangalore (D) Mangalore

Which is not the randomized sampling
method ?

(A) Snowball sampling
(B) Stratified sampling
(C) Cluster sampling
(D) Systematic sampling

Qualitative research is based on
questions that are based on one of the
following :

(A) Likert scale
(B) Staple scale
(C) Semantic scale
(D) Unstructured

47.

48.

49.

50.

This consists of two lists of cities and
airline codes. The candidate has to
match an item in one list with an item
in the other :

List -1 List — I1

i. Bagdogra 1. BHJ
ii. Bhuyj 2. IXR
ii. Ranchi 3. BDQ
iv. Vadodara 4. IXB
Codes :

i i iv
(A) 4 1 2 3
(B) 4 2 3 1
<) 3 4 2 1
D) 1 2 3 4

The statement of hypothesis is framed
in the form of one of the following :

(A) Interrogative
(B) Declarative
(C) Assertive
(D) Conclusive

Standard deviation is

(A) The square root of the variance
(B) The square root of the median
(C) The square root of mode

(D) The square root of dispersion

Which one of the
scheduled method ?

(A) Self administered
(B) Online survey
(C) Mail Survey

(D) Administered by enumerator

following 1is
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‘3R (OPERA) &
(A) T HEET

(B) ®Tel % HWI % AW % few
TR fohdl ST aTeT e

(C) USRS d1e HEH!
(D) SheTEST gleet =

. TTER el &l ST &

(A) Ul — T THATD

(B) Tl — SFINTT T
(C) Tl — RIS ThrTeh
(D) Tl — TR TR

TR Far eyl fow =g &
(A) A (B) T
(C) @™ (D) ax

. YA I 6E TR 9 wie fafeey fee g2

(A) ==
(C) R

(B) Here
(D) TR

. el § € S 9@ Ags® T H

T §?

(A) AETe St
(B) Rfewrg dwmfer
(C) wFoTeT qefemT
(D) Tawdics dumfert

. T STTHAM 3T WAl O ST § S

Tt o 9 5t v T i ghar
T

(A) TR @her (fetene o)

(B) WUt @het

(C) drfesw whet
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